
Y4 – Autumn – Block 2 – Step 4 – Add two 4-digit numbers – more than one exchange Answers

Question Answer

1

2

a)

Nijah has written the sum for the ones column in the tens and ones columns, and has 
put the sum of the tens column into the hundreds column.

b)

Nijah has not lined the digits up correctly.

3

a)

b)

c)

d)

5 6 3 4
1 1

✔

✔

8 2 0 4
1 1

7 0 2 3
1 1 1

3 7 8 4
2 5 2 6
6 3 1 0
1 1

+

6 5 4
1 3 1 2
2 0 4 5
1 1

+

7 9

1

1



Y4 – Autumn – Block 2 – Step 4 – Add two 4-digit numbers – more than one exchange Answers 
(continued)

Question Answer

4

5
a) 5,725
b) No, he has 7,620 points.

6

a)

b)

c) multiple possible answers, e.g.:

The two digits in the hundreds columns must sum to 11, and the two digits in the ones 
column must sum to 12

712 + 394

2,350 + 3,760

17 + 953
3,044 + 2,3721,312 + 2,527

1,995 + 712
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